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LABOURWELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

Note :

PAPER —1I

This paper contains fifty (50) objective-type questions, each question carrying

two (2) marks. Attempt all of the questions.

1.  Match the following :

Proponents
(a) F.W. Taylor (i)
(b)  Elton Mayo (ii)
() William Ouchi
(d) Rensis Likert (iv)
(@ b (© (@
(A) @) (v) @) ()
(B) @) @) Gv) ()
© @ (@) G (@)
(D) @) @Gv) @ (D)

Management thought
Systems theory
‘Z’ theory

(iii) Scientific Management

Human Relations

2. Arrange the following phases of Hawthorne experiment in the sequence in which they

were held :

(i) Bank wiring observation test room
(i) Mass interviewing programme

(iii) Ilumination experiment

(iv) Personal counselling

(v) Relay Assembly test room experiment
A &) O @ @) ()

B (i) ) @ 6 @)

© @ 0 @ )

D) (v) Gi) () @) )

3.  Arrange the following steps in the planning process in which they occur :

(i)  Establishing objectives

=
—

i) Analyzing opportunities

(v) Identifying alternatives
(vii) Review

(A) @) @& @@ ) @)
B) @ @) @@ @) (i)
© @@ @ @) ) i)
(D) @) @ ~) @O @)

J—5509

(i)
(iv)

(vi) Selection

Determining planning premises
Evaluation

(viii) Implementation

(vi) (viii) (vii)

(v)  (vii) (viii)

(viii) (iv) (vii)

(vi) (vii) (viii)
2



T THEATUT Ta STE{iTeh Tarel, 50 Td WIS ShedTuT, UT-d GaTer Wael

EESREED

AE: WU T H UEE (50) TGS U T TAE U & oF (2) 3k 1 |t yeH F IW
iy

1. frafafeq § ¥« faed)

qEATaE ST (A=
TH. S, oo () Towm fusi
Teed HAl (i) ‘s’ faed

faferm = (iii) SFTH Fele
ey foee (iv) HFE gy

(@ ) () (@

() (iv) (i) (i)

(i) () (@(v) ()

(i) @) @) (i)

(i) (v) () (i)

2. eioH Teufde & fefafaa <o sl 39k wfed BF oel A H SFafeerd e |

S IR AETAIH T TH
T 3T IIH
TR TeuiHe
TS SEfafe

& et T &1 T
(v) () (@) @) (@iv)
i) (v) @@ @ ({v)
i) @@ @@ (v) ()
(iv) (@) (@) @) ()

3. fraem st ufsean o wfafed frefafea =l o1 s9e ufed 89 % w0 § safeerd o)

IERYAT T T (i) SMER-aTeR 1 o
3T 1 fergetwor (iv) HATRA
forehedl hl g (vi) =EA
HHTE (viii) IR
@) @ @) (v) (Gv) (vi) (vii) (vii)
(@ (i) @) @Gv) (vi) (v) (vii) (viii)
@i @G @) (v)  (vi) (viii) (iv) (vii)
@) @) (v) (@ @(Gv) (vi) (vii) (viii)
3 P.T.O.



4.  Assertion : Organizations embody authority, responsibility , and communication
structures.

Reason : All these structures can be delegated in a top- down flow.
(A) Assertion and Reason are wrong

(B) Assertion is wrong and Reason is correct

(C) Assertion is right and Reason is wrong

(D) Assertion and Reason are right

5. Gangplank theory of communication advanced by Henry Fayol is an example of :
(A) Downward Communication (B) Lateral Communication
(C) Upward Communication (D) Network Communication

6.  The provision of Grievance settlement Authority is provided in which of the following
Acts ?

(A) The industrial employment (standing orders ) Act
(B) The Factories Act

(C) The Industrial Disputes Act

(D) The Trade Unions Act

7.  When the Personnel Department performs all the core functions and its head reports
directly to the CEO, then such department is called :

(A) Independent Split-function Department
B) Staff Co-ordinated Extended Department

Independent Integrated Department

D) Split-function , Staff-coordinated Department
8.  Which of the following is not a method of recruitment ?
(A) Scouting (B) Employment exchanges
(C) Advertisement (D) Application Blank
9.  Wage survey method is used for getting information regarding :
(A) Prevailing Wages (B) Variable Pay
(C) Dearness Allowance (D) All the above

J—5509 4



4. EFHYT: TS T, M I HAR AT FeAram & |
FROT: T U AR 1 FrSH SR d 9 Joe ®9 § a1 s T 2|
(A) TEHYT TN HIUT T 2 |
(B) TEHUT oI § IR INUT WLl § |
(C) TEHIT T § 3R THIUT T |
(D) TEHAT TN HTIUT T & |

fa oo

5. TR wE g fasfEa ireie Rl o ey fefafea § 9 fhae T e

Tl
(A) TRAAE HHRAHRIA (B) WA HHIFTRIA
(C) SIS HEThTH (D) e HEGTheH

6. Trefafed § @ fha Uae § forrma fuert 212ifEt =1 weem )
(A) Iefga twme (e oed) Twe (Siaifies ISR (Tenfastew) stffTem)
(B) S W (@ sAfufm)
(C) sefigaa ferze T (siigafie foare sifufmm)
(D) TE e TR (Feigy o sifafem)

7. @ IfH foIHN THE HEeqUl Sl I FOIGH Ll § aei SHeht I9RT ©1.3. 371, ! Hten Rue
AT T 79 T FaT 1 . e

(A) T fowre- e faum

(B) wHERI qHfaq fowaiia fawm

(G ERSEREIERRER

(D) TocTe-dhaRH, HHA Fafad faum

)
)

8. Tr=fafed § & &1 wil I wa fafy =& T
(A) TR (B) USTIR THR
(S EREFILE (D) 3TEEA U5

9. TGy wa& fafy w1 3uAnT foRdeh I H A1 UTH T <k faw fohen Sran 7
(A)  Taferd Al (B) uRad=siel o
(C) HemE v (D) Sufifafaa goft

J—5509 5 P.T.O.



10. Which model of HRM highlights the interests of all the stakeholders ?
(A) Wanwick Model (B) Storey’s Model
(C) Legge’s Model (D) Harward Model

11. Which of the following is not a simulation technique of development ?
(A) In - Basket (B) Case study

(C) T- group (D) Management games

12. Match the following expressions with the ego states mentioned against them :

Expressions Ego states
(a) Rationality (i) Parent
(b) Fantasising (i) Child
(c) Demonstrating (iii) Adult
(@ () (o
(A) (@) (@) (i)
B) @) @ (i)
(© Gi) @) @
(D) None of the above

13. The subjective probability of efforts resulting in the outcome (the first level outcomes),
is known as :

(A) Expectancy (B) Instrumentality
(C) Incentive (D) None of the above

14. Which of the following is the correct sequence of career development stages ?

(i) Mid career

(ii) Late career

(iii) Exploration

(iv) Decline

(v)  Establishment

@A) @ G () @)
B G @) 6 ) @)
© O G ) @ i)
D) i) ) @ @ @)

J—5509 6



10.

11.

12.

13.

14.

HHg GHIEA JoH (T 3R TH) kI i 91 AIed Lah-gleedl o fadl W S a1 2|

(A) dSfas A (B) WRI Hred
(C) o Hred (D) TEE Higd

frfafea § 9 oF faem & steia gfafy =& 7
(A) TA-TEhRS (B) Y Wl
(C) F-qu (D) TS T

Frfafeaa stfveafaal s 7 e fad e 0 wed' 9 fiem &)
sif=fe ¥m 2em

(a) foererefierd ()  srfyureek

(b) emEEtET CISED

(c) USEH A (iii) TT=R
(a @B (o

A) () (i) (i)

B) (i) () (i

Q) (i) (i) ()

) SuRfafed § 4 &€ =

)

(
(
(
(

TATE i SATGHS ez, S Ads § Yfahiad 2t @ (TS o1 Jom W), i H8d ¢ |
(A) g (B) U (C) UEmRd (D) T9H 9 F® T

frafafaa # @ S HReR famm & Tawensii &1 9& T Ha 7|
() Tiae =R

(i) T HRER

(i) STTHR H BHA-SA KT

P.T.O.



15.

16.

17.

18.

In OCTAPAC instrument of HRD culture , the words O, T, and P stand for :

(A) Openness, Team, and Performance
(B) Organisation, Training, and Potential
(C) Opinion, T-Group, and Probability
(D) Openness, Trust, and Pro-action

Reinforcement given by removing a noxious or undesirable stimulus from the
environment is known as :

(A) Positive Reinforcement (B) Negative Reinforcement

(C) Punishment (D) None of the above

Match the names of the Behavioural scientists and their contributions given in the
List-A and B

List-A List-B
(a) Mayo E. and Roethlisberger F.J. (i) Theory X and Y
(b) Mc. Gregar D. (if) Michigan study an leadership style
(c) Likert R. (iii) Trait Theory of leadership
(d) Kelly]. (iv) Hawthorne effect
(@ (b (o (@)
(A) Gv) @) @) (i)
(B) @) @@ Gv) (i)
© @) @@ G ()
(D) Gv) @) (D) (i)

Assertion (A) : The content theories of motivation assume a direct relationship between
Job satisfaction and improved performance.

Reason (R) : Job satisfaction does not necessarily lead to work performance.
(A) (A)is True (R) is False

(B) (A)is False (R) is True

(C) Both (A) and (R) are False

(D) Both (A) and (R) are True, (R) is not the correct explanation of (A)



15.

16.

17.

18.

e {19 forehe §ehfd & SN HL AT d e H. foamar | of, <, qen ot 7R w1 qof &9 =1
gl

(A)  SNUTH, 0 qo1 THHY (B)  AfIATgSIEA, i den drefre
(C) ordifed, 3-7u 9 Udfafarer (D) WU, 2%, 991 W-UaRH

fEt ava w1 I § 821 9 fRT S aTel Yo i 9 hEd © |

(A) HHNIHS Yool (B) ThNIcHS: Feloi

(©) <Us (D) TTH 9 %D Tl

Frfafed it A 9 B | %Aen: ST ¢ aerams! oehi qe 37 SRR &l e |

gel-A gei-B
(a) HAE. qU1 TRUfAETR Th, () fasi X wey
(b) HH IR EL (i) THRrH =< e e wra
) fawe o (iii) g2 Taerlt &iw wirexfm
(d) el S (iv) B Thae
(@ @) (© @
(A) (v) () @) (i)
(B) G) (@) (@v) (i)
© @) @ G (i)
(D) Gv) (@) @) (i)

FEHIT (A) :  MYUOn w1 Iy-faguid wE-w i qu I wE-faeT & A= g
Hele) AT € |

HERUT(R) :  HE-Ggfe Afer & § & foaed o gfa-wiea T2 S
(A) (A) TR %, (R) oA §

(B) (A) T € 1 (R) T

(C) (A) a1 (R) S et &

(D) (A) T (R) SF1 & €1 (R), (A) T T =R &

J—5509 9 P.T.O.



19. If the change is plotted on two axis of “Time and difficulty involved in change * then
which of the following would be the correct sequence of change taking place in shortest
time and difficulty to maximum period and difficulty ?

(i) Group Behaviour

(if) Individual Behaviour

(iii) Organisational Behaviour
(iv) Knowledge

(v) Attitude

@) (v ) @) @ 0

B) @ @) (@) (i) (v)
(© @ @) @O () @)
(D) (v) (v @) @ (i)

20. Which of the following is one of the process Theories of motivation ?
(A) Alderfer’s E R G Theory (B) Achievement motivation Theory

(C) Manifest need Theory (D) None of the above

21. Which of the following factors is helpful in promoting peaceful industrial relations ?
(A) Mutual understanding
(B) Freedom of expression
(C) Freedom of Association and collective Bargaining

(D) All the above

22.  Which of the following is not true in regard to the approaches to industrial Relations ?
(A) Giri Approach (B) Dunlop Approach

(C) Nehru Approach (D) Gandhi Approach

J—5509 10



19. IS IS i F<aE ¥ HYH THI qAT iR o ol A&l R 3iferd foran a0 @1 eTeqan 994
g@ﬁﬁﬁwmﬁaaw%ﬁﬁaﬁa@ﬁa@ww@ww
(i) R TR
(ii) SATHId HEBR
(iii) EHTSHIHR SRR
L
(v) T
(A) (v) (v) @) @) @)
B @ G (Gv) () ()
© @) @) @O v @)
(D) (v) (v) G) (@) (i)
20. frfafed § @ & fdRe 1 s i fagma (8a fasi) )
(A) TESH &S AR S fagrma (B) Suafey iU fagra
(C) Yoa® Magdehdl fHgr (D) TTH | ®IE &I
21. TreAfafad § @ A R wifayel ezt Heiui s sean <7 § Tees |
(A) YRR HeumE
(B) AfY=Af® =i eIl
(C) wre=d &t Tl am Arfeeh Sraersh
(D) 39l
22. ircEfies Heldi % SurTdi % ey § frafafed § 9 w9 @ gl 118 ¥
(A) ffturm (B) ST SUNTH
(C) & UM (D) et 3qTH
J—5509 11 P.T.O.



23. Arrange the following dispute settlement methods in order of their applications :

(i) Conciliation / Mediation
(i) Adjudication
(iii) Voluntary Arbitration
(iv) Collective Bargaining
(A) Gv) (@) @) (i)
® @ @) @ 0
© O @ Gi) G
© O i) @ @
24. The scheme of workers participation in Management was introduced by Government
of India in .
(A) 1965 (B) 1975
(C) 1985 (D) 1995

25. The code of discipline implemented by the central Government was :

(A) Voluntary in nature

(B) Compulsory in nature
(C) Partly voluntary and partly compulsory
(D) None of the above

26. The most important year in the history of Indian Trade Union Movement has been :
(A) 1920 (B) 1922
(C) 1940 (D) 1947

27. The primary source of income for the union is :
(A) Membership subscription (B) Donations
(C) Sale of periodicals (D) Other sources

28. Who among the following will not be regarded as an outsider in trade union ?
(A) Political leader (B) Persons working in other industry

(C) Lawyers (D) Ex - employees

J—5509 12



23.

24.

25.

26.

27.

28.

Trfafaa foare faer fafe™i ot 37 SATIART o hH H afed &l |
i) TN/ HEAEd
ii) oS

N o
111) H[=Seh / T

(
(
(
(iv) ek Hiqarsi
(
(
(
(

>

) Gv) @) (D) ()
B) (v) () @@ @
Q) () (v) (i) (i)
) (@) (D) (

i)

D i) (iv) (i)
ANd TR A Yo H HITRI bl eIl il fohd a9 # & foRa |
(A) 1965 (B) 1975

(C) 1985 (D) 1995

e THR R TN 1 TS ST ht Hfgam off |
(A) Tfz® gHid ot

(B) 3ifemrd gepfd ot

(C) ittt Wifess qen stifvte e yshfa &t
(D) T 9 %IE Tl

TTH § M |1 96 RAT HSIgY 99 STieer o sfaerd  waifys "ew quf @l § |
(A) 1920 (B) 1922
(C) 1940 (D) 1947

el & fau 31 =1 Y@ Eia frefafaa § 9 s @ )
(A) HEEI Yok (B) <M
(C) af>ehiati ki fersh! (D) 3T &

Frefafad 9 9 ford Aeigy &8 1 et = T8l A S|
(A) TSHIfdeR = (B) 3T &N H *rid =AfH
(C) dehic (D) qaYsl - HH=R

J—5509 13
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29.

30.

31.

32.

33.

The provision regarding political fund under the trade union Act, 1926 is :

(A) Creation of political fund is compulsory

(B) It is optional
(C) Itis partly compulsory and partly voluntary
(D) None of the above

Match the following Theories of trade unionism with the contributors who propagated them :

Theory of Trade Unionism Contribution
(a) Industrial Democracy Theory (i) M. K. Gandhi
(b)  Scarcity - consciousness Theory (i) Robert F. Hoxie
(c)  Socio - Psychological Theory (iii) Sydney and Beatvice webbs
(d) Class collaboration and harmony Theory (iv) Selig Pearlman
(@ B (o (@
A) (v) (@) @) @)
B (i) () @ 0
© O @) (v )
D) G) @) @) ()

Who had propagated social engineering in industrial jurisprudence :
(A) Roscoe pound (B)  Ehilrich
(C) Both A and B (D) None of the above

The international labour code consists of :

(A) The conventions and Recommendations of I. L. O

(B) The proposals submitted by the member countries
(C) The opinions of the U. N. O
(D) All the above.

The number of bipartite committees as provided under the factories Act, 1948 :
(A4) 1 (B) 2
(€ 3 (D) 4

J—5509 14



29. WX W9 sifuftad, 1926 § ¢ eifaer '’ | Hefyd waem fafafed § @ w9 @ )
(A) TSHIfaeR i 1 faior sifamd §
(B) T dehfeds §
(C) &% =iifereh &9 H SAf7amd § 9o Tiferes &9 # Wies® |
(D) T 9 ®E Tl

30. S GEETE % fefafed fagid o 37 safeal & we faam R S8 5% genfa foran
(a) Tefeaa fentmdr fust () T
(b) TR -wifeEETg fasw (i) T TH. Bt
(c) HifvrE- HEhaitsha fas (i) ot Twe dfieary =4
(d) T R TS T U5 (iv) AT 9o
(@ @) () @

(A) Gv) () @) (1)
(B) @) (@v) () ()
© @ @) (@v) (@)
(D) @) @ @) ()

31. sl fafuema § dree gSif=fan s foeam g=mia fean
(A) U RIS (B) U=
(C) AT BTH (D) T | & Tl

32. ST g9 Giea ® fr=fafed & 9 o1 wfafea €1
(A) T T 0 & safremg qen Ty
(B) ¥SH <M R UKIA fohdl T g&Ta
(C) I, . 3 & AfqHd
(D) T & usft

33. HR@M fufam 1948 § forat fguefra wfafasl =1 wreym
(A) 1 (B) 2
© 3 (D) 4

J—5509 15 P.T.O.



34.

35.

36.

37.

38.

39.

According to the workmen’s compensation Act, 1923 for calculating the compensation
the maximum salary slab amount , the management can consider is :

(A) Rs 2000/- (B) Rs 3000/-
(C) Rs 4000/- (D) Rs 5000/ -

‘According to the employees” state insurance Act 1948, the wage ceiling is :
(A) Rs 7500/- (B) Rs 8000/-
(C) Rs 9000/- (D) Rs 10000/ -

Which of the following is not a part of the Trade unions Act, 1926 ?
(A) Registration of trade unions

(B) Rights and Liabilities of Registered Trade unions

(C) Cancellation of Registration
(

D) Recognition of Trade union

Special provisions relating to lay - off retrenchment and closure will apply where not
less than :

(A) 50 Workmen were employed (B) 100 Workmen were employed
(C) 300 Workmen were employed (D) 500 Workmen were employed

Which of the following in valid under the industrial disputes Act 1947 with regard to
Arbitration Award :

(A) Itshall become enforceable on the expiry of 30 days from the date of its publication

(B) It shall not become enforceable on the expiry of 30 days from the date of its
publication

(C©) Partly A and partly B
(D) The Act is silent about it.

MN(Cs in India are repeatedly demanding change in which of the following provisions
under the industrial Disputes Act ?

(A) Provisions relating to public utility service
B) Strikes and Lockouts
Unfair Labour practices

Lay- off , Retrenchment and closure

—5509 16



34.

35.

36.

37.

38.

39.

TR lagfd ST 1923 o favia afagfd-reT o FYRe §q Afeehan oad Ui 2T -
(A) TTI 2000/- (B) ¥WI 3000/-
(C) T9A 4000/- (D) ¥9¥ 5000/-

A T oA AffTam 1948 & 3iaefd oa= 9T g |
(A) T 7500/- (B) ¥WI 8000/-
(C) ¥T 9000/- (D) ¥9F 10,000/ -

frefafed & 9 =9 o1 gogr 99 ifufm, 1926 &1 39 721 7
(A) TSI FEll 1 IS (B) USithd HIGY Hell o1 YR Td Sifac
(C) ISirEd w1 FEEeRol (D) TSI HE <l HIRIAT <A |

-3, el qe St o a9 yraem @n] & 2rf STl 399 g0 SR 9w o |
(A) 50 ¥ %A g% FHEAR (B) 100 ¥ &H F1gw® *HAR
(C) 300 ¥ ®H Fg® HHAR (D) 500 9§ =7 FgH FHHR

Tt & ded H st faare sifufrem 1947 & sfamd frfafed § @ o8 @ 491 71
(A) THH Y i fafsr & 30 fei & ofid S & 91 98 @R 2

(B) SH%h TehI¥H i fafyr & 30 &l o offd ST & =18 € W &l B |

(C) oif¥Teh &9 ¥ A qon Tifeh €9 9 B

(D) @R ¥ rfufem o 3o = T

IRA H IR Ig-a Hruar gt faar stfufem & e waem ol seeH i TR
AT FE S|

(A) ek ITATTAT Tl § Heiferd Jrae™

(B) TS Al TreTsial

(©) TIfem Afve ST

(D) -3k, S, q siaT
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40. An employer has submitted draft standing orders to certifying officer for certification.
Mean while which of the following will be applicable :

(A) Nothing will be applicable there

(B) Certified standing orders of any other similar organization
(C) Model standing orders

(D) None of the above

41. Who opined that the “Labour Welfare officer should not merely remain looking after
the interests of the management , but also consider they are custodians of the rights
and privileges of the workers ?

(A) G.L.Nanda (B) V. V.Giri
(C) Morarji Desai (D) M. K. Gandhi

42. The welfare is a state of living of an individual or a group in desirable relation to the
total environment , animate and inanimate , according to :

(A) K.N. Vaid (B) A. M. Sharma
(©) M. V. Moorthy (D) S.D. Punekar

43. Match the following :

Welfare funds Years
(a) Coal Mines Welfare Fund Act @i 1973
(b) The Mica Mines Welfare Fund Act i) 1961
() The Iron Ore Mines Labour Welfare Fund Act (iii) 1946
(d) The Lime Stone And Dolomite Mines Labour (iv) 1947

Welfare Fund Act
(@ (b) () @

(A) @) (@) @) o (v)
(B) Gv) () @) ()
(© @) (@v) @ (i)
(D) (v) (@) @G @)
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40.

41.

42.

43.

T FERET A JHUE AfYeRit % THe TR SRS < U HHIS YHIONSd i o fad wga
foren 1 39 ot frefafed § @ =0 e SF/ar] e 2

(A) T& FD off A T e

(B) T YR & fordll =1 TS 1 WHITOTT T AT
(C) HIed Tl AR

(D) T & I T

forem og Ha = foran for gffrer sheamon S1fueRi 1 Sholel WEAT / Yoo o fedl 9L &1 & e
A @ Afen, AfYg S 39 9 W o foeaR we e fF 3 wuerl & eAfuewri qen
fomferRl o s1fimeres off €

(A) ST Fa (B) s Il (C) HNRSH <4 (D) TH. . M

fordt =af® = THE =it 35k GYUl IRAST ST€ qe1 ST o 91 38 e § i el & e
- I foram et

(A) HTI A (B) U TH. ¥ (C) T o gfd (D) THE. TR
Frfafea w1 faam =L
(a) A ARYH ATHR HUE T i 1973
(b) TS AIZH AIZH FTHR RIS TR i) 1961
() TS T*RA 3R A9 TieR Jehar (i) 1946
HE TR
(d) fc oY ¥H e MR A5d (iv) 1947

AT FdeThIL Thig U
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44. Which of the following recommended to the Government of India to consider making
social security as a fundamental human right ?

(A) The Labour Investigation Committee
(B) The Royal Commission on Labour
(C) The First National Commission on Labour

(D) The second National Commission on Labour

45. Which of the following cannot be regarded as a statutory welfare facility for factory
workers ?

(A) Canteen
(B) Housing
(C) Shelter , Restrooms and Lunch rooms

(D) First Aid Box

46. Who among the following is not included in labour force ?
(A) Persons below 15 years of age (B) Housewives and pensioners

(C) Mentally Disabled (D) All the Above

47. The scope of state regulation of wages in the present scenario in India particularly , in
the organized sector is :

(A) Increasing (B) Decreasing

(C) Irrelevant (D) None of the above

48. The ongoing industrialisation in the country is contributing to which type of
unemployment ?

(A) Cyclical Unemployment (B) Frictional Unemployment

(C) Seasonal Unemployment (D) Technological Unemployment
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44. G GRET I HifcTsh AHATEHR 99 W fo=m & 7 Fefafed § 9 fras IrRa @R
Y fammer =t 71

(A) & oo A=A wfHd
(B) & W wHivH 1T TR

(C) f& wE JMa FHEE A1 AR

(D) fg Ivg A9FE HHITH 31 oo

45. FREHE H HW FW dl & fau Fafafea § 9 68 e weamr giaen ==& amr s

(C) 3TFA- T, SH-He, WSH-H&

(D) wnfhek faferer 92t

46. Trafafea § @ fed g ufe & wite T foan ST |
(A) 15 94 ¥ Y Mg H Al (B)  TfeforaT qem Y- ot
(C) HMfE® ®1 § 747 (D) 3Ww g+t

47. ToRw ®9 9, Gufed &= H, TS o Tiqed 1, ASgd & Ted fafTemi w1 faen & |
(A) el S @& (B) Tl STl &

(C) sl ® (D) THAFS T

48. < H IAAM AR fohd YhR hi SSTIRT o T&T § |
(A) TR SRS (B) TfEqy ISR
(C) Tt IS (D) WIARTRE SR
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49. Which of the following is not a method for fixation of minimum wages in India under
the Minimum Wage Act, 1948 ?

(A) Notification Method (B) Committee Method

(C) Wage Boards (D) None of the above

50. In an inflationary economy like ours to-day, which of the following components of
wages becomes more important :

(A) Opvertime (B) Incentive
(C) Bonus (D) Dearness Allowance
-00o0-
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49. =IAaH weIgH AU 1948 % i Frafafed § € & o fafu yra § Faad weigd

Frericor ot fafy & ©
(A) At fafy (B) @fafa fafy
(C) #eigdt feg (D) 3TH 9 &S Tl

50. AR 3T ! G HEohiae AdTae &l &M § W@d U, ASG 1 i 91 ¥ Sl
TR a1 ST @I g |

(A) 3TeReTEH (B) Wicared (C) & (D) TR

-00o0-
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